Quiz 30

1) Partner opens 1v, and RHO passes. What should you respond?

a) a- by & KJ2
v KJ975 v KQ754
+ A10643 ¢ 96
& 1082 & 873
2) Partner opens 1a, and your Vulnerable RHO overcalls 2&. What should you respond?
a) Al b) & Q1062
v A852 v 9873
¢ J1063 ¢85
* KJ97 * AQ2

And what should you bid if the overcall is 2 ¢?

3) You open 14, and partner responds 1a. What is your rebid?
a) A 97 b) & A1072
v J3 v5
¢ KQJ842 + KQ963
% AQ5 % AJ8

And what should you rebid if partner responds 1?

4) You open this hand 1». LHO bids 2 ¢, partner bids 2v, RHO passes.
a Q983 Are you worth inviting game with 3#, or should you pass?
v AQ1054
* QJ
w A2
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